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1 1 2 1
510 = — (4a*4Pa*?a+ — #4Paxdax [--*?a-r —*3a]] // N // FullSimplify
EJ 2 3 3

157.333a°p
EJ

1 /1 1
520 = — [—*4Pa*d-a*4a+ —xd4axdaxdP a] S/ N // FullSimplify

EJ \2 2
64. a* P
EJ
511 =
1 1 2 1 2 1 1 2 1
— [—*33*5a*—*33+—*?a*43*[—*?a-r—*Ba +—*3a*43*[—*3a+—*?a +
EJ 2 3 3

?31431?3] S/ N // FullSimplify

316.333 a°
EJ

1 (1 2 1 1 1
512 = — [—*43*53*—*334-43*43*[—*?a+—*3a] +?at4at—*4a] f/N// FullSimplify
EJ \2 3 2 2 2

156. a°>
EJ

1 ol o | 2 1 2
522 = — [—t4at5ai—t4a+4at4at4a+ —t-r‘-'l-at-ﬂ-at—t-ﬂ-a] S/ N// FullSimplify
EJ \2 3 2 3

112. a°
EJ

621 = 612

156. a°
EJ

Solve[S11 X1 + 512 X2 + 510 == B&& 521 X1 + 522 X2 + 620 = @, {X1, X2}]

[{X1 = -0.688462 P, X2 - 0.3875 P} }

oLl

/l) ™ [Pa:j / 9,515

ot 0,920
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7777

E fL 2 1
ub - — [—*43*43* [——tG.EZBF‘a+ —tB.?BlPa]] // N // FullSimplify

"8 k2 3 3
2.424a°p
Ed

3) V¢
4
o | }

2777
i | : | 1 1 2 1
Ve = — [43*43* [—*G.?Sl——*G.EZB] +—x4axdax [—*B.?Sl— —*B.SIS]J fINJS
EJ 2 2 2 3 3
FullSimplify
1.81333 a2
EJ

Metoda Sit Strona 3



